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SECONDARY SCHOOL EXAMINATION-2022  (ANNUAL) 

ECONOMICS (OPT) 

vFkZ”kkL= ¼,sfPNd½ 

  

Time: 3 Hours 15 Minutes               iw.kkZd %& 100 

Lke;% 3 ?kaVs 15 feuV              Full Marks %& 100      

ijh{kkfFkZ;ksa ds fy, funsZ”k %& 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz”u iqfLrdk dzekad ¼10 vadks dk ½ vo”; fy[ka sA 

Candidates must enter his / her question Booklet Serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 

practicable. 

3- nkfguh vksj gkf”k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz”uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to read the 

questions carefully. 

5- ;g iz”u&i= nks [k.Mksa esa gS] [k.M&v] [k.M&c] A 

This question paper has two sections: Section-A, Section-B. 

6-  [k.M&v esa 100 oLrqfu"B iz”u gSa] ftuesa ls fdUgha 50 iz”uksa dk mÙkj nsuk vfuok;Z gSA 

50 iz”uksa ls vf/kd iz”uksa ds mÙkj nsus ij izFke 50 mÙkjks dk gh ewY;kadu fd;k tk,xkA 

fo"k; dksM%& 116 
Subject Code:- 116 
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izR;sd Ikz”u ds fy, 1 vad fu/kkZfjr gSA lgh fodYi dks miyC/k djk;s x, OMR mÙkj 

i=d esa fn, x, fodYi dks uhys @dkys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR “khV esa iz;ksx djuk euk gS] vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In Section- A, there are 100 objective type questions, out of which any 50 

questions are to be answered. First 50 answers will be evaluated, in case 

more than 50 questions are answered. Each question carries 1 mark. 

Darken the circle with blue/ black ball pen against the correct option on 

OMR Answer sheet provided to you. Do not use Whitener/Liquid/Blade/Nail 

on OMR Sheet, otherwise the result will be treated as invalid. 

7- [k.M& c esa 30 y?kqmÙkjh; iz”u gSa] ftuesa ls fdUgha 15 iz”uksa ds mÙkj nsuk vfuok;Z gSA 

izR;sd iz”u ds fy, 02 vad fu/kkZfjr gSA blds vfrfjDr bl [k.M esa 08 nh?kZ mÙkjh; 

iz”u Hkh fn, x, gSa] ftuesa ls fdUgha 04 iz”uksa ds mÙkj nsuk vfuok;Z gSA izR;sd iz”u ds 

fy, 05 vad fu/kkZfjr gSaA 

In section-B, there are 30 Short answer type questions, Out of which any 15 

questions are to be answered. Each question carries 2 marks. Apart from 

this, there are 08 Long answer type questions, Out of which any 04 of them 

are to be answered. Each question carries 5 marks.  

8- fdlh rjg ds bysDVªkWfud&;a= dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M&v @ SECTION- A  

oLrqfu"B iz”u@ Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz”u ds fy, pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR - SHEET “khV ij fpfUgr djsaA fdaUgh 50 

iz”uksa ds mrj nsaA          [50x1=50] 

Question Nos. 1 to 100 have four options, out of which only one is correct. You 

have to mark your selected options, on the OMR – SHEET. Answer any 50 

questions.           [50x1=50] 

1-   ;kstuk vk;ksx dk xBu dc gqvk Fkk\ 

(A) 15 ekpZ 1947   (B) 15 ekpZ 1950 

(C) 15 vizSy 1950   (D) 2 vxLr 1952 

When was the planning commission established? 

(A) 15th March 1947  (B) 15th March 1950 

(C) 15th April 1950   (D) 2nd August 1952 

2-   ;kstuk vk;ksx ds izFke v/;{k dkSu Fks\ 

(A) MkW jktsUnz izlkn   (B) MkW eueksgu flag 

(C) if.Mr tokgj yky usg: (D) Jherh bfUnjk xk¡/kh 

Who was the first chairman of the planning commission? 

(A) Dr. Rajendra prasad  (B) Dr. Manmohan Singh 
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(C) Pandit Jawaharlal Nehru (D) Smt. Indira Gandhi 

3-   Ikgyh iapo"khZ; ;kstuk dh vof/k D;k gSa\ 

(A) 1950&55    (B) 1951&56 

(C) 1952&57    (D) 1953&58 

What is the period of the first five year plan? 

(A) 1950-55    (B) 1951-56 

(C) 1952-57    (D) 1953-58 

4-   Hkkjr dk lokZf/kd lk{kjrk okyk jkT; dkSu gS\ 

(A) egkjk"Vª    (B) fnYyh 

(C) iatkc    (D) dsjy 

Which state of India has the highest literacy rate? 

(A) Maharashtra   (B) Delhi 

(C) Punjab    (D) Kerala 

5-   Hkkjr dk lokZf/kd tula[;k okyk jkT; dkSu gSa\ 

(A) fcgkj    (B) egkjk"Vª 

(C) if”pe caxky   (D) mÙkj izns”k 

Which is the most populous state of India? 

(A) Bihar    (B) Maharashtra 
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(C) West Bengal   (D) Uttar Pradesh 

6-   Hkkjr esa ifjokj fu;kstu dk;ZØe dc “kq: fd;k x;k\ 

(A) 1952    (B) 1955 

(C) 1958    (D) 1962 

When was the family planning programme started in India? 

(A) 1952    (B) 1955 

(C) 1958    (D) 1962 

7-    Hkkjr dk foÙkh; o"kZ D;k gS\ 

(A) 1 vizSy ls 31 ekpZ rd  (B) 1 ekpZ ls 28@29 Qjojh 

(C) 1 twu ls 31 ebZ   (D) 1 tqykbZ ls 30 twu rd 

What is the financial year of India? 

(A) 1st April to 31st March (B) 1st March to 28/29 February 

(C) 1st June to 31st May  (D) 1St July to 30th June 

8-   buesa ls D;k jktLo izkfIr gS\ 

(A) y?kq cprsa    (B) _.k 

(C) fuxe dj    (D) buesa ls dksbZ ugha 

Which of these is a revenue receipt? 

(A) Small Saving   (B) Loans 
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(C) Corporation tax  (D) None of these 

9-   lkoZtfud m|eksa esa ljdkj dh va”k/kkfjrk esa deh D;k gSa\ 

(A) fuos”k    (B) fofuos”k 

(C) jk"Vªh;dj.k   (D) buesa ls lHkh 

What is the reduction in government’s shareholdings in public 

enterprises? 

(A) Investment   (B) Disinvestment 

(C) Nationalisation    (D) All of these 

10-   ubZ vkfFkZd uhfr dh ?kks"k.kk dc dh xbZ\ 

(A) 1990    (B) 1991 

(C) 1980    (D) 1985 

When was the new economic policy announced? 

(A) 1990    (B) 1991 

(C) 1980    (D) 1985 

11-   izR;{k dj ds vUrxZr fuEu esa ls fdls “kfey fd;k tkrk gS\ 

(A) vk;dj    (B) mRikn dj 

(C) fcØh dj    (D) buesa ls dksbZ ugha 

Which of these is included in direct tax? 

(A) Income tax   (B) Excise duty 
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(C) Sale tax    (D) None of these 

12-   futh miØeksa dk lapkyu fdl mís”; ls fd;k tkrk gSa\ 

(A) lekt dY;k.k   (B) ns”kfgr 

(C) ykHk     (D) gkfu 

For which objective private enterprises are operated? 

(A) Social welfare   (B) Country’s favour 

(C) Profit    (D) Loss 

13-   fdl iapo"khZ; ;kstuk dk m)s”; ns”k esa vkS|ksfxdj.k dh izfØ;k dks izkjaHk djuk Fkk\ 

(A) izFke    (B) f}rh; 

(C) ik¡poh    (D) lkroha 

The objective of which five year plan was to start the process of 

industrialization in the country? 

(A) First    (B) Second 

(C) Fifth    (D) Seventh 

14-   Hkkjr esa fu;kstu dk ewy m)s”; D;k gSa\ 

(A) rhoz vkfFkZd fodkl  (B) U;k; ds lkFk vkfFkZd fodkl 

(C) vkS|ksfxd mRiknu esa òf) (D) buesa ls lHkh 

What is the basic objective of planning in India? 

(A) Rapid economic growth     
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(B) Economic development with justice 

(C) Increase in industrial production  

(D) All of these 

15-   Xkjhch dh nq"pØ dh vo/kkj.kk fdlus nh\ 

(A) ek”kZy    (B) uDlZ 

(C) ,Me fLeFk    (D) jkWfcUlu 

Who gave the concept of the vicious circle of poverty? 

(A) Marshall    (B) Nurkse 

(C) Adam Smith   (D) Robinson 

16-   buesa ls D;k xjhch dk dkj.k ugha gS \ 

(A) csjkstxkjh    (B) vlarqfyr fodkl 

(C) jkstxkjksUeq[kh f”k{kk  (D) fuos”k dk vHkko 

Which of these is not a cause of poverty? 

(A) Unemployment   (B) Unbalanced development 

(C) Job oriented education (D)  Lack of investment 

17-   e/;kg~u Hkkstu ;kstuk dc “kq : dh xbZ\ 

(A) 1990     (B) 1995 

(C) 1998    (D) 2000 
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When was mid day meal scheme started? 

(A) 1990    (B) 1995 

(C) 1998    (D) 2000 

18-   vUrksn; vUu ;kstuk ds rgr izfrekg fdruk vukt fn;k tkrk gS\ 

(A) 20 fdyks    (B) 30 fdyks  

(C) 35 fdyks    (D) 40 fdyks 

How much foodgrains are given per month under Antyodaya Anna 

Yojana ? 

(A) 20 kg    (B) 30 kg  

(C) 35 kg    (D) 40 kg 

19-   dkSulh  csjkstxkjh d`f"k {ks= esa ikbZ tkrh gS\ 

(A) lajpukRed csjkstxkjh  (B) rduhdh csjkstxkjh 

(C) pØh; csjkstxkjh   (D) izPNUu csjkstxkjh 

Which unemployment is found in agriculture sector? 

(A) Structural Unemployment (B) Technological Unemployment 

(C) Cyclical Unemployment (D) Disguised Unemployment 

20-   eujsxk dk “kqHkkjaHk fdl jkT; ls fd;k x;k\ 

(A) vka/kz izns”k    (B) jktLFkku   
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(C) dsjy    (D) xqtjkr 

MGNREGA was launched from which state? 

(A) Andhra Pradesh  (B) Rajasthan 

(C) Kerala    (D) Gujarat 

21-   eujsxk o"kZ esa fdrus fnu jkstxkj dh xkjaVh nsrk gS\ 

(A) 150 fnu    (B) 120 fnu 

(C) 100 fnu    (D) 180 fnu 

How many days of employment does MGNREGA guarantee in a year ? 

(A) 150 days    (B) 120 days 

(C) 100 days    (D) 180 days 

22-   buesa ls D;k eqnzk LQhfr fu;a=.k dk jktdks"kh; mik; gS\ 

(A) cSad nj    (B) lkoZtfud O;; 

(C) udn dks"k vuqikr  (D) [kqys cktkj dh fØ;k,¡ 

Which of the following is a fiscal measure to control inflation? 

(A) Bank rate   (B) Public Expenditure 

(C) Cash reserve ratio  (D) Open Market operations 

23-   udn dks"k vuqikr dk fu/kkZj.k dkSu djrk gS\ 

(A) okf.kfT;d cSad   (B) foÙk ea=ky; 
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(C) Hkkjrh; fjtoZ cSad   (D) fo”o cSad 

Who determines the cash reserve ratio? 

(A) Commercial Bank  (B) Finance Ministry 

(C) Reserve bank of India (D) World Bank 

24-   buesa ls fdldk lekukUrj vFkZO;oLFkk ls laca/k gS\ 

(A) dkyk /ku    (B) df̀"k mRiknu 

(C) vkS|ksfxd mRiknu   (D) buesa ls dksbZ ugha 

Which of the following is related to parallel economy? 

(A) Black Money   (B) Agriculture Production 

(C) Industrial Production  (D) None of these 

25-   Hkkjr fuekZ.k ;kstuk dk izkjaHk dc gqqvk\ 

(A) 1990    (B) 1998 

(C) 2000    (D) 2005 

When was Bharat Nirman Yojana Started ? 

(A) 1990    (B) 1998 

(C) 2000    (D) 2005 

26-   buesa ls dkSu lkoZtfud {ks= dk miØe ugha gS\ 

(A) LIC     (B) SAIL  
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(C) NTPC    (D) TATA 

Which of the following is not a public sector enterprise? 

(A) LIC     (B) SAIL 

(C) NTPC    (D) TATA 

27-   Hkwfe fodkl cSad fdl izdkj ds _.k miyC/k djkrk gS\ 

(A) vYidkyhu    (B) e/;dkyhu 

(C) nh?kZdkyhu    (D) buesa ls dksbZ ugha 

What type of loan is provided by the land development bank? 

(A) Short-term   (B)  Mid- term 

(C)  Long-term   (D)  None of these 

28-   EXIM cSad dk eq[;ky; dgkW vofLFkr gSa\ 

(A) ubZ fnYyh    (B) dksydrk 

(C) psUubZ    (D) eqEcbZ 

Where is the headquarter of EXIM Bank situated? 

(A) New Delhi   (B) Kolkata 

(C) Chennai    (D)  Mumbai 

29-   Hkkjrh; fjtoZ cSad dk jk"Vªh;dj.k dc fd;k x;k\ 

(A) 1935    (B) 1949 
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(C) 1950    (D) 1952 

When was Reserve Bank of India nationalized?  

(A) 1935    (B) 1949 

(C) 1950    (D) 1952 

30-   vesfjdk ds dsUnzh; cSad dk D;k uke gS\ 

(A) cSad vkWQ vesfjdk   (B) vesfjdu fjtoZ cSad 

(C) QsMjy fjtoZ cSad   (D) buesa ls dksbZ ugha 

What is the name of Central Bank of America? 

(A) Bank of America  (B) American Reserve Bank 

(C) Federal Reserve Bank (D) None of these 

31-   LVsV cSad vkWQ bf.M;k fdl {ks= dk cSad gS\ 

(A) futh {ks=    (B) lkoZtfud {ks=   

(C) fons”kh {ks=    (D) lgdkjh {ks= 

State Bank of India belongs to which sector? 

(A) Private Sector   (B) Public Sector 

(C) Foreign Sector   (D) Cooperative sector 

32-   cSad dk ,tsUlh dk;Z D;k gS \ 

(A) xzkgd dk VsfyQksu fcy] fctyh fcy]VSDl vkfn nsuk     



14 
 

(B) psd Lohdkj djuk 

(C) VªLVh dk dk;Z djuk      

(D) buesa ls lHkh 

What is the agency function of a bank? 

(A) To pay customer’s telephone bill, electricty bill, tax etc.   

(B) Collection of cheque 

(C) Act as trustee     

(D) All of these 

33-   tkiku dh eqnzk D;k gSa\ 

(A) :cy    (B) ;su 

(C) MWkyj    (D) Øksuk 

What is the currency of Japan? 

(A) Ruble    (B) Yen 

(C) Dollar    (D) Krona 

34-   WTO dh LFkkiuk dc gqbZ\ 

(A) 1990    (B) 1995 

(C) 1998    (D) 2005 

When was WTO established? 

(A) 1990    (B) 1995 

(C) 1998    (D) 2005 
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35-   Hkkjr esa lokZf/kd izR;{k fons”kh fuos”k fdl {ks= esa gqvk gSa\ 

(A) df̀"k {ks=    (B) vkS|ksfxd {ks= 

(C) lsok {ks=    (D) buesa ls dksbZ ugha 

Which sector has received largest foreign direct investment in Indai? 

(A) Agriculture sector  (B) Industrial sector 

(C) Service sector   (D) None of these 

36-   fofuekZ.k fdl {ks= dk Hkkx gS\ 

(A) df̀"k {ks=    (B) vkS|ksfxd {ks=   

(C) lsok {ks=     (D) buesa ls dksbZ ugha 

Manufacturing is the part of which sector? 

(A) Agriculture sector  (B) Industrial sector 

(C) Service sector   (D) None of these 

37-   fo”o tula[;k esa Hkkjr dh D;k fgLlsnkjh gS\ 

(A) 20     (B) 17-5 

(C) 15    (D) 22 

What is India’s share in total world population? 

(A) 20%    (B) 17.5% 

(C) 15%    (D) 22% 
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38-   2011 dh tula[;k ds vuqlkj Hkkjr dk tula[;k ?kuÙo fdruk gS\ 

(A) 282     (B) 382  

(C) 482     (D) 582 

According to census of 2011 what is India’s population density? 

(A) 282    (B) 382 

(C) 482    (D) 582 

39-   dkyk /ku jksdus ds fy, dkSu lk dkuwu gS\ 

(A) Qsek       

(B) euh ykaMfjax vf/kfu;e   

(C) dsUnzh; lrdZrk vk;ksx dkuwu 2003  

(D) buesa ls lHkh 

Which law is there to prevent black money? 

(A) FEMA       

(B) Money Laundering Act 

(C) Central Vigilance Commission Act 2003  

(D) All of these 

40-   lakf[;dh ds tUenkrk dkSu gS\ 

(A) ek”kZy    (B) ckWmys 

(C) ,Me fLeFk    (D) xkWVÝkbV ,dsuoky 
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Who is the father of statistics? 

(A) Marshall    (B) Bowley 

(C) Adam Smith   (D) Gottfried Achenwall 

41-   tc lexz dh izR;sd bdkbZ dk v/;;u fd;k tkrk gS rks bls dgrs gSa& 

(A) laxBu vk/kkfjr vuqla/kku (B) U;kn”kZ vk/kkfjr vuqla/kku   

(C) O;kogkfjd vuqla/kku  (D) buesa ls dksbZ ugha 

When each unit of universe is studied, then it is called- 

(A) Census based research (B) Sample based research 

(C) Practical research  (D) None of these 

42-   fdlh ikbZ pkVZ ds dsUnz ij dqy dks.k gksrk gS& 

(A) 1800    (B) 2700 

(C) 900     (D) 3600 

The total angle at the centre of a pie chart is- 

(A) 1800    (B) 2700 

(C) 900     (D) 3600 

43-   Hkkjr esa gfjr ØkafUr ds tud dkSu gSa\ 

(A) ,e0 ,l0 LokehukFku  (B) bfUnjk xkW/kh  

(C) eksjkjth nslkbZ   (D) Vh0 ckyd"̀.ku 
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Who is the father of green revolution in India? 

(A) M.S. Swaminathan  (B) Indira Gandhi 

(C) Morarji Desai   (D) T. Balkrishnan 

44-   Hkkjr dh igyh vkS|ksfxd uhfr dc ?kksf"kr gqbZ\ 

(A) 1947    (B) 1948  

(C) 1950    (D) 1956 

When was the first industrial policy of India announced? 

(A) 1947    (B) 1948 

(C) 1950    (D) 1956 

45-   ubZ vkfFkZd uhfr esa buesa ls fdls “kkfey fd;k x;k gS\ 

(A) mnkjhdj.k    (B) futhdj.k  

(C) oS”ohdj.k    (D) buesa ls lHkh 

Which of these has been included in New Economic Policy? 

(A) Liberalization   (B) Privatization 

(C) Globalization   (D) All of these 

46-   vk; dh vlekurk ,oa forj.k dk laca/k fdlls gSa\ 

(A) fujis{k fu/kZurk   (B) lkis{k fu/kZurk  

(C) csjkstxkjh    (D) vkfFkZd fodkl 
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Disparity of income and its distribuation is associated with which of 

these? 

(A) Absolute poverty  (B) Relative poverty 

(C) Unemployment  (D) Economic development 

47-   ukckMZ dc LFkkfir gqvk\ 

(A) 1982    (B) 1992 

(C) 2002    (D) 1972 

When was NABARD established? 

(A) 1982    (B) 1992 

(C) 2002    (D) 1972 

48-   oLrqvksa dh ewY; òf) dks vFkZ”kL= esa D;k dgrs gSa\ 

(A) eanh     (B) eqnzk LQhfr  

(C) dkyk /ku    (D) buesa ls dksbZ ugha 

What is rise in prices of goods called in Economics? 

(A) Recession   (B) Inflation 

(C) Black Money   (D) None of these 

49-   fuEu esa ls dkSu ekuo iw¡th dk ?kVd ugha gS\ 

(A) Hkkstu    (B) LokLF; 

(C) f”k{kk    (D) buesa ls dksbZ ugha 
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Which of the following is not a component of human capital? 

(A) Food    (B) Health 

(C) Education   (D) None of these 

50-   jk"Vªh; ekuo fodkl fjiksVZ ds vuqlkj dkSu lk jkT; izFke LFkku ij gS\ 

(A) dsjy    (B) xksok 

(C) egkjk"Vª    (D) xqtjkr 

Which state ranks first according to the National Human Development 

Report? 

(A) Kerala    (B) Goa 

(C) Maharashtra   (D) Gujarat 

51-   Hkwfe dk ikfjJfed D;k dgykrk gS\ 

(A) osru    (B) ykHk 

(C) etnwjh    (D) yxku 

What is the reward of land called? 

(A) Salary    (B) Profit 

(C) Wages    (D) Rent 

52-   Tkks O;fDr O;olk; esa tksf[ke mBkrk gS] mls D;k dgrs gSa\ 

(A) O;oLFkkid    (B) iw¡thifr 
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(C) lkglh    (D) buesa ls dksbZ ugha 

What is a person who takes risk in business called? 

(A) Administrator   (B) Capitalist 

(C) Enterpreneur   (D) None of these 

53-   buesa ls dkSu mRiknu dk lfØ; lk/ku gS\ 

(A) Hkwfe     (B) iw¡th 

(C) Je     (D) e”khu 

Which of these is an active factor of production? 

(A) Land    (B) Capital 

(C) Labour    (D) Machine 

54-   [kuu dks buesa ls fdl {ks= esa “kfey djrs gSa\ 

(A) lsok {ks=    (B) vkS|ksfxd {ks= 

(C) izkFkfed {ks=   (D) buesa ls dksbZ ugha 

Mining is included in which of these sectors? 

(A) Service sector   (B) Industrial sector 

(C) Primary sector   (D) None of these 

55-   fcgkjokfl;ksa ds thou fuokZg dk eq[; lk/ku D;k gS\ 

(A) df̀"k     (B) O;kikj 
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(C) m|ksx    (D) buesa ls dksbZ ugha 

What is the main source of livelihood for the people of Bihar? 

(A) Agriculture   (B) Trade 

(C) Industry    (D) None of these 

56-   buesa ls fdlls ewY;gzkl ds ewY; dks ?kVk fn;k tkrk gS\ 

(A) ldy ?kjsyw mRikn  (B) ldy jk"Vªh; mRikn 

(C) “kq) jk"Vªh; mRikn  (D) buesa ls dksbZ ugha 

From Which of the following the value of depreciation has been 

deducted? 

(A) Gross Domestic Product (B) Gross National Product 

(C) Net National Product  (D) None of these 

57-   lkekU;r% ekax oØ dh <+ky gksrh gSa & 

(A) ck;sa ls nk;sa Åij dh vksj (B) ck;sa ls nk;s uhps dh vksj 

(C) x v{k ds lekukUrj  (D) Y v{k ds lekukUrj 

Demand curve generally slopes - 

(A) Upward from left to right (B) Downward from left to right 

(C) Parallel to X-axis  (D) Parallel to Y-axis 
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58-   ,d nwljs ds cnys iz;ksx dh tkus okyh oLrq,¡ D;k dgykrh gS\ 

(A) iwjd oLrq,¡    (B) vkjkenk;d oLrq,¡ 

(C) LFkkukiUu oLrq,¡   (D) izfr"Bklwpd oLrq,¡ 

Goods, which can be used in place of one another is called- 

(A) Complementary Goods (B) Comfort Goods 

(C) Substitute Goods  (D) Prestigious Goods 

59-   buesa ls fdls ekSfnzd uhfr esa “kkfey djrs gS\ 

(A) lkoZtfud O;;   (B) lkoZtfud vk; 

(C) dj     (D) [kqys cktkj dh fØ;k,¡ 

Which of these is included in monetary policy? 

(A) Public expenditure  (B) Public Revenue 

(C) Tax    (D) Open market operations 

60-   ctV dh vof/k D;k gS\ 

(A) okf"kZd    (B) 2 o"kZ 

(C) 5 o"kZ    (D) 10 o"kZ 

What is the duration of a budget? 

(A) Annual    (B) 2 Years 

(C) 5 Years    (D) 10 Years 
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61-   buesa ls D;k xSj&vkfFkZd vk/kkfjr lajpuk dk Hkkx gS\ 

(A) lapkj    (B) foÙk 

(C) f”k{kk    (D) ;krk;kr 

Which of these is a part of Non-economic infrastructure? 

(A) Communication  (B) Finance 

(C) Education   (D) Transportation 

62-   jk”ku dh nqdku ij lkeku fdl ewY; ij feyrk gS\ 

(A) cktkj nj ij   (B) fj;k;rh nj ij 

(C) cktkj nj ls vf/kd  (D) buesa ls dksbZ ugha 

The goods at ration shop are sold at which price? 

(A) At market rate     

(B) At subsidised rate 

(C) At price greater than market rate   

(D) None of these 

63-   *xjhch gVkvks* fdl iapo"khZ; ;kstuk dk eq[; mís”; Fkk\ 

(A) pkSFkh    (B) ikapoh 

(C) NBh     (D) lkroha 

Eradication of poverty was the main objective of which five year plan? 
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(A) Fourth    (B) Fifth 

(C) Sixth    (D) Seventh 

64-   Lkcls igys cSad dgk¡ LFkkfir gqvk\ 

(A) osful    (B) baXySa.M 

(C) ukosZ     (D) Hkkjr 

Where was the first bank established? 

(A) Venice    (B) England 

(C) Norway    (D) India 

65-   Ek¡kx dh yksp ekius dh dqy O;; fof/k dk izfriknu fdlus fd;k\ 

(A) ek”kZy    (B) ,Me fLeFk 

(C) jkWfcUlu    (D) ihxw 

Who propounded the total expenditure method of measuring elasticity 

of demand? 

(A) Marshall    (B) Adam smith 

(C) Robinson   (D) Pigou 

66-   Hkkjr dh izeq[k vkfFkZd leL;k D;k gS\ 

(A) xjhch    (B) csjkstxkjh 

(C) vkfFkZd vlekurk   (D) buesa ls lHkh 

What is the major economic problem of India? 
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(A) Poverty    (B) Unemployment 

(C) Economic inequality  (D) All of these 

67-   dkyk /ku esa lokZf/kd ;ksxnku fdldk gS\ 

(A) voS/k vk;    (B) deh”ku 

(C) dj pksjh    (D) buesa ls dksbZ ugha 

Which of these contributes the most to black money? 

(A) Illegal Income   (B) Commission 

(C) Tax evasion   (D) None of these 

68-   ctV izkfIr;k¡ ;fn ctV O;; ls vf/kd gks rks bls dSlk ctV dgrs gSa\ 

(A) ?kkVs dk ctV   (B) vkf/kD; dk ctV 

(C) larqfyr ctV   (D) buesa ls dksbZ ugha 

If the budget receipts are more than budget expenditure, than what type 

of budget is this? 

(A) Deficit Budget   (B) Surplus Budget 

(C) Balanced Budget  (D) None of these 

69-   buesa ls dkSu ekuo fodkl lwpdkad dk lwpd gS\ 

(A) thou vk”kk        (B) f”k{kk izkfIr 

(C) thou Lrj    (D) buesa ls lHkh 

Which of these is an indicator of human development index? 
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(A) Life expectancy  (B) Literacy 

(C) Standard of living  (D) All of these 

70-   ekuo fodkl lwpdkad ds vuqlkj fo”o esa izFke LFkku fdl ns”k dk gS\ 

(A) fczVsu    (B) ukosZ  

(C) la;qDr jkT; vesfjdk  (D) tkiku 

Which country ranks first in the world according to Human Development 

Index? 

(A) Britain    (B) Norway 

(C) United states of America (D) Japan 

71-   Hkkjr dh foÙkh; jkt/kkuh fdl “kgj dks dgk tkrk gSa\ 

(A) fnYyh    (B) psUubZ 

(C) csaxyw:    (D) eqEcbZ 

Which city is called the financial capital of India? 

(A) Delhi    (B) Chennai 

(C) Bangaluru   (D) Mumbai 

72-   Hkkjr ds ldy ?kjsyw mRikn esa fdl {ks= dk ;ksxnku lokZf/kd gS\ 

(A) izkFkfed {sk=   (B) f}rh;d {ks= 

(C) rr̀h;d {ks=   (D) buesa ls dksbZ ugha 
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Which sector’s contribution to India’s Gross Domestic Product is the 

largest ? 

(A) Primary sector   (B) Secondary sector 

(C) Tertiary sector   (D) None of these 

73-   vkfFkZd n`f"V ls fodflr ns”kks dh vk; esa òf) ds fy, fdl “kCn dk iz;ksx gksrk gSa\ 

(A) vkfFkZd òf)   (B) vkfFkZd fodkl 

(C) lekos”kh o`f)   (D) lrr~ fodkl 

Which word is used for rise in income of economically developed 

countries? 

(A) Economic Growth  (B) Economic Development 

(C) Inclusive Growth  (D) Sustainable Development 

74-   buesa ls dkSu laLFkkxr _.k dk L=ksr ugha gS\ 

(A) ukckMZ    (B) lgdkjh cSad 

(C) O;olkf;d cSad   (D) Lo;a lgk;rk lewg 

Which of these is not a source of institutional finance? 

(A) NABARD    (B) Cooperative Bank 

(C) Commercial Bank  (D) Self Help group 

75-   buesa ls dkSu xSj&ljdkjh lsok gS\ 

(A) jsy lsok    (B) Mkd lsok 
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(C) Lojkstxkj lsok   (D) lSU; lsok 

Which of these is non-government service? 

(A) Rail service   (B) Postal Service 

(C) Self employment service (D) Military service 

76-   vkfFkZd fodkl lacaf/kr gS& 

(A) ifjek.kkRed ifjorZu ls  (B) xq.kkRed ifjorZu ls 

(C) mijksDr nksuksa ls   (D) buesa ls dksbZ ugha 

Economic development is related with- 

(A) Quantitative change  (B) Qualitative change 

(C) Both of the above  (D) None of these 

77-   flaxy czkaM fjVsy {ks= esa izR;{k fons”kh fuos”k dh vf/kdre lhek D;k gS\ 

(A) 49    (B) 51 

(C) 100    (D) 25 

What is the maximum limit for FDI in single brand retail sector? 

(A) 49    (B) 51 

(C) 100    (D) 25 

78-   cQj LVkWd dkSu cukrk gS\ 

(A) foÙk ea=ky;    (B) Hkkjrh; [kk| fuxe ¼FCI½ 
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(C) Hkkjrh; fdlku ;wfu;u  (D) buesa ls dksbZ ugha 

Who creates buffer stock? 

(A) Finance ministry  (B) Food corporation of India 

(C) Indian farmers’ union (D) None of these 

79-   uhfr vk;ksx dk xBu dc gqvk\ 

(A) tuojh 2014   (B) tuojh 2015 

(C) tuojh 2016   (D) tuojh 2017 

When was NITI Aayog formed? 

(A) January 2014   (B) January 2015 

(C) January 2016   (D) January 2017 

80-   tux.kuk 2011 ds vuqlkj Hkkjr esa fyaxkuqikr D;k gS\ 

(A) 940     (B) 943 

(C) 914     (D) 950 

What is the sex ratio in India according to census 2011? 

(A) 940    (B) 943 

(C) 914    (D) 950 

81-   buesa ls dkSu fons”kh czkaM gS\ 

(A) VkVk    (B) ctkt vkWVks 
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(C) gqaMbZ    (D) vkb”kj eksVlZ 

Which of these is a foreign brand? 

(A) TATA    (B) Bajaj Auto 

(C) Hundai    (D) Eicher Motors 

82-   oS”ohdj.k dk udkjkRed izHkko fdl {ks= esa ns[kk x;k\ 

(A) df̀"k ,oa xzkeh.k {ks= esa  (B) jkstxkj 

(C) cSad     (D) m|ksx 

The negative impact of globalization was seen in which sector? 

(A) Agriculture and rural sector 

(B) Employment 

(C) Bank      

(D) Industry 

83-   fu;kZr lao)Zu {ks= ¼EPZ½ dks fdlesa cny fn;k x;k gS\ 

(A) fo”ks"k vkS|ksfxd {ks=  (B) fo”ks"k vkfFkZd {ks= 

(C) fo”ks"k lao)Zu {ks=   (D) buesa ls dksbZ ugha 

Export Promotion Zone has been converted into which zone? 

(A) Special Industrial Zone (B) Special Economic Zone 

(C) Special Promotion Zone (D) None of these 
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84-   fdl {ks= dks f}rh;d {ks= dgk tkrk gS\ 

(A) lsok {ks=    (B) vkS|ksfxd {ks= 

(C) d`f"k {ks=    (D) O;kikj 

Which sector is known as secondary sector? 

(A) Service sector   (B) Industrial sector 

(C) Agriculture sector  (D) Trade 

85-   fuEu esa ls D;k fdlh oLrq dh ekax dk fu/kkZjd gS\ 

(A) vk;     (B) tula[;k 

(C) lacaf/kr oLrqvksa dh dher (D) buesa ls lHkh 

Which of the following is a determinant of a consumer’s demand for a 

commodity? 

(A) Income    (B) Population 

(C) Prices of related goods (D) All of these 

86-   Hkkjr esa loZ izFke jk"Vªh; vk; dk vuqeku fdlus yxk;k\ 

(A) izks0 ih0lh0 egkyuksfcl  (B) eksjkjth nslkbZ 

(C) nknk HkkbZ ukSjksth   (D) lqjsUnz ukFk cuthZ 

Who estimated the national income in India first of all? 

(A) Prof. P.C Mahalanobis (B) Morar Ji Desai 

(C) Dada Bhai Naoroji  (D) Surendra Nath Banerjee 
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87-   vFkZ“kkL= ds tud dkSu gS\ 

(A) ek”kZy    (B) jkWfcUlu 

(C) ,Me fLeFk    (D) dsUl 

Who is the father of Economics? 

(A) Marshall    (B) Robinson 

(C) Adam Smith   (D) Keynes 

88-   fo”o cSad dh LFkkiuk dc gqbZ\ 

(A) 1944    (B) 1945 

(C) 1948    (D) 1952 

When was the World Bank established? 

(A) 1944    (B) 1945 

(C) 1948    (D) 1952 

89-   tukafddh ifjorZu fl)kar ds vuqlkj fdl voLFkk esa tula[;k rsth ls c<+rh gS\ 

(A) izFke voLFkk   (B) nwljh voLFkk 

(C) rhljh voLFkk   (D) buesa ls dksbZ ugha 

According to the theory of Demographic transition, in which stage the 

population increases rapidly? 

(A) First stage   (B) Second stage 

(C) Third stage   (D) None of these 
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90-   O;kolkf;d cSadksa dk jk"Vªh;dj.k dc fd;k x;k\ 

(A) 1969    (B) 1971 

(C) 1975    (D) 1982 

When were commercial banks nationalized? 

(A) 1969    (B) 1971 

(C) 1975    (D) 1982 

91-   dsUnzh; lgdkjh cSad dk xBu fdl Lrj ij gksrk gS\ 

(A) xzke Lrj ij   (B) ftyk Lrj ij 

(C) jkT; Lrj ij   (D) jk"Vªh; Lrj ij 

At what level is the central co-operative Bank formed? 

(A) Village level   (B) District level 

(C) State level   (D) National level 

92-   jk"Vªh; vk; dh x.kuk fdl fof/k }kjk dh tkrh gS\ 

(A) mRiknu x.kuk fof/k   (B) O;; x.kuk fof/k  

(C) vk; x.kuk fof/k   (D) buesa ls lHkh 

National income is calculated by which method ? 

(A) Product Method  (B) Expenditure Method 

(C) Income Method  (D) All of these 
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93-   lektoknh vFkZO;oLFkk esa fdl ij cy fn;k tkrk gS\ 

(A) vkfFkZd Lora=rk ij  (B) mRiknu dq”kyrk ij 

(C) vf/kdre ykHk vtZu ij  (D) yksd dY;k.k ij 

What is emphasized in a socialist economy? 

(A) economic freedom  (B) production efficiency 

(C) making maximum profit (D) public welfare 

94-   buesa ls dkSu ?kkVs dk ctV gS\ 

(A) izkfIr;k¡ = O;;   (B) izkfIr;k¡ > O;; 

(C) izkfIr;k¡ < O;;   (D) buesa ls dksbZ ugha 

Which of these ia a deficit budget? 

(A) Receipts = Expenditure (B) Receipts > Expenditure 

(C) Receipts < Expenditure (D) None of these 

95-   fuEu esa dkSu IykfLVd eqnzk gS\ 

(A) psd     (B) cSad Mªk¶V 

(C) MsfcM dkMZ    (D) djsalh uksV 

Which of these is a plastic money? 

(A) Cheque    (B) Bank Draft 

(C) Debit card   (D) Currency Note 
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96-   fdl unh dks fcgkj dk *“kksd* dgrs gSa\ 

(A) x.Md    (B) dkslh 

(C) lksu     (D) iquiqu 

Which river is called the “sorrow” of Bihar? 

(A) Gandak    (B) Koshi 

(C) Sone    (D) Punpun 

97-   buesa ls dksSu lk[k i= gS\ 

(A) psd     (B) cSad Mªk¶V 

(C) ;k=h psd    (D) buesa ls lHkh 

Which of these is letter of credit? 

(A) Cheque    (B) Bank Draft 

(C) Traveller’s cheque  (D) All of these 

98-   fcgkj ds fdl ftys esa tula[;k ?kuRo lokZf/kd gS\ 

(A) iVuk    (B) jksgrkl 

(C) x;k     (D) Hkkxyiqj 

Which district of Bihar has the higest population density? 

(A) Patna    (B) Rohtas 

(C) Gaya    (D) Bhagalpur 
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99-   fuEu esa dkSu mRiknu dk lk/ku ugha gS\ 

(A) laxBu    (B) m|eh 

(C) iw¡th     (D) miHkksx 

Which of these is not a factor of production? 

(A) Organisation   (B) Enterpreneur 

(C) Capital    (D) Consumption 

100- “kgjh {ks= ds O;fDr;ksa dks izfrfnu U;wure fdruh dSyksjh Hkkstu dh vko”kdrk gksrh 

gS\ 

(A) 2400 dSyksjh   (B) 2100 dSyksjh 

(C) 2300 dSyksjh   (D) 2200 dSyksjh 

What is the minimum calorie requirement per day for the people of 

urban area? 

(A) 2400 calories   (B) 2100 calories 

(C) 2300 calories   (D) 2200 calories 
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[k.M&c @Section-B 

Yk?kq mrjh; iz”u @Short Answer Type Questions 

iz”u la[;k 1 ls 30 rd y?kq mÙkjh; gSA buesa ls fdUgha 15 iz”uksa ds mÙkj nsaA izR;sd iz”u ds 

fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each 

question carries 2 marks.        (15x2=30) 

1- ctV dks ifjHkkf"kr djsaA            2 

Define Budget. 

2- iw¡thxr izkfIr;ksa dh fofHkUu enksa dks fyf[k,A    2 

Write the various items of Capital Receipts. 

3- ekSfnzd uhfr ls D;k vfHkizk; gS\      2 

What is meant by Monetary Policy? 

4- Hkkjr esa iapo"khZ; ;kstuk ds eq[; m)s”; crkb,A   2 

Write main objectives of Five year plans in India. 

5- ^fyaxkuqikr* ls vki D;k le>rs gS\     2 

What do you mean by Sex Ratio? 

6- Hkkjr esa tula[;k òf) ds dksbZ nks dkj.k crkb,A   2 

Mention two reasons for increase in Population in India. 

7- Hkkjr esa csjkstxkjh ds dksbZ nks dkj.k crkb,A    2 

Mention any two causes of Unemployment in India. 
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8- Hkkjr fuekZ.k ;kstuk ds fo"k; esa la{ksi esa crkb,A   2 

Briefly write about Bharat Nirman Yojana. 

9- ^Ekk¡x* dks ifjHkkf"kr djsaA       2 

Define Demand. 

10- vFkZO;oLFkk dks ifjHkkf"kr djsaA      2 

Define Economy. 

11- izkFkfed vk¡dM+ks ls vki D;k le>rs gS\     2 

What do you mean by Primary Data? 

12- vk/kkfjd lajpuk D;k gS\       2 

What is Infrastructure? 

13- jk"Vªh; vk; dh x.kuk esa gksus okyh nks izeq[k dfBukb;k¡ crkb,A 2 

State two major difficulties in the calculation of National income. 

14- lrr~ fodkl ls D;k vfHkizk; gS\      2 

What is meant by Sustainable Development? 

15- Pkkyw [kkrk D;k gS\        2 

What is Current Account? 

16- iwfrZ dks izHkkfor djus okys rÙo D;k gS\     2 

What are the factors affecting supply? 

17- fxfQu dk fojks/kkHkkl D;k gS\      2 

What is Giffin paradox? 

18- fcgkj ds fiNM+siu ds pkj dkj.k crkb,A     2 
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Mentioned four reasons for the backwardness of Bihar. 

19- o`gn~ m|ksx ds pkj mnkgj.k fy[ksaA     2 

Write four example of large scale industry. 

20- iw¡thoknh vFkZO;oLFkk ls D;k le>rs gSa\     2 

What do you mean by Capitalist Economy? 

21- Lkdy ?kjsyw mRikn dks ifjHkkf"kr djsA     2 

Define Gross Domestic Product. 

22- vk; dk xjhch ds lkFk laca/k LFkkfir djsA    2 

Establish relationship between Income and Poverty. 

23- fdlkuksa dks lk[k vFkok _.k dh vko”;drk D;ksa gksrh gS\  2 

Why do farmers need Credit or Loan? 

24- oS”ohdj.k ls D;k le>rs gSa\      2 

What do you mean by Globalization? 

25- ̂miHkksDrk* dkSu gSa\ le>k;saA      2 

Who is a Consumer? Explain. 

26- eqnzk LQhfr dk cpr dh izo`fr ij D;k izHkko iM+rk gS\   2 

What is the effect of inflation on the habit to save? 

27- iw¡th fuekZ.k D;k gS\        2 

What is Capital Formation? 

28- mRiknu ds izeq[k lk/ku dkSu&dkSu ls gS\          2 

What are the Main Factors of Production? 
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29- miHkksDrk “kks"k.k ds nks mnkgj.k crkb,A     2 

Write two examples of Consumer Exploitation. 

30- Lkgdkfjrk ds ewyHkwr rÙo D;k gS\      2 

What are the basic elements of Cooperatives? 

nh?kZ mÙkjh; iz”u ¼Long Answer Type Questions½ 

iz”u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz”u gSaA buesa ls fdUgha 4 iz”uksa ds mÙkj nsaA izR;sd iz”u 

ds fy, 5 vad fu/kkZfjr gSaA         (4x5=20) 

Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4 of them. 

Each question carries 5 marks.       (4x5=20) 

31- ̂ Ekkax dh dher yksp* dks ekius dh T;kfefr; fof/k dh O;k[;k djsaaaaA               5 

    Explain the geometric method of measuring Price Elasticity of Demand. 

32- Hkkjr esa ikbZ tkus okyh fofHkUu izdkj dh csjkstxkjh dk fooj.k nsaA   5 

Give details of different types of Unemployment in India. 

33- vkfFkZd fodkl D;k gS\ vkfFkZd fodkl rFkk vkfFkZd o`f) esa vUrj Li"V djasA 5 

What is Economic Development? Distinguish between Economic Development 

and economic growth. 

34- dsUnzh; cSad fdl izdkj O;kikfjd cSad ls fHkUu gksrk gS\     5 

How does a Central Bank differ from a Commercial Bank? 

35- Hkkjr esa lu~ 1991 ds vkfFkZd lq/kkjksa ls vki D;k le>rs gS\    5 

What do you understand by India’s Economic Reforms of 1991? 
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36- Ekqnzk LQhfr dh leL;k dk lek/kku lq>k;saA      5 

Suggest solutions for the problem of Inflation. 

37- Lkkaf[;dh ls D;k le>rs gS\ bldh fo”ks"krk,¡ crkbZ,A     5 

What do you understand by Statistics? Explain its characteristics. 

38- Hkkjr esa iapo’khZ; ;kstukvksa dss lkekU; m)s”;ksa dk mYys[k djsaA   5 

Point out the common Goal of five years plans in India. 

 

 


